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Sl. No.1
QBID:1554921

Choose the correct form of verb to fill in the blank.

Knowledge is that we can not know.

(A) known
(B) without know
() knowing

(D) know
Answer Given by Candidate : B

Sl. No.2
QBID:1554922

Choose the correct pair of prepositions, in the correct sequence, from among the
four options given, to fill m the blanks m the following sentence :

The book was lying the table and the papers were that.
(A) 1 under

(8) besides; underneath

(c) above: over

(p) under; underneath

Answer Given by Candidate : C

Sl. No.3
QBID:1554923

Pick out the correctly spelt word,
(A) assiduous

(B) asiduous

(€) assidous

(D) assedious
Answer Given by Candidate : D

Sl. No.4
QBID:1554924




Identify the correct form of indirect speech of the following sentence.

The teacher said to Arjun. "Go away."”

(A) The teacher requested Arjun to go away.

(B) Arjun asked the teacher if he could go away.
(¢) The teacher ordered Arjun to go away.

(p) The teacher told Arjun that he can go away.

Answer Given by Candidate : B

Sl. No.5
QBID:1554925

Rearrange the following parts of a sentence labeled as PQRS to make a
meaningful sentence

P it clearly is no better than
Q having knowledge but
R never having any ideas at all

S lacking the power to express
(a) RPQS
(8) QPRS
(c) QSPR
(p) SPRQ

Answer Given by Candidate : B

Sl. No.6
QBID:1554926

Pick out the antonym of 'vulnerable'
(A) Stoicism

(B) Immune

(c) Incompetent

(p) Capable

Answer Given by Candidate : D

Sl. No.7
QBID:1554927

Pick out the meanmng of the underlined idiom in the following sentence.
Rina broke off in the muddle of her story.
(A) left

(B) began anew




(€) stopped suddenly
(D) clarified

Answer Given by Candidate : C

SI. No.8
QBID:1554928

Choose the correct passive voice form of the following sentence.
We ought to respect our teachers.

(A) Our teachers must be respected.

(8) Our teachers should be respected

(c) Our teachers ought to be respected.

(p) We need to respect our teachers

Answer Given by Candidate : C

SI. No.9
QBID:1554929

Pick out the synonym of the following word.

envisage
(A) command
(B) condemn

(c) contemplate

(D) curious
Answer Given by Candidate : A

Sl. No.10
QBID:15549210

Choose the correct sentence.
(A) I found the food unedible.
(8) I found the food medible.
(©) I found the food mnaudible
(D) I found the food unedible

Answer Given by Candidate : B

Sl. No.11
QBID:15549211

'Commemorative Stamp' is printed in honour of specific person. while the
postage stamps for regular use are called :

(A) Post - Stamps

(8) Regular Stamps
(¢) Definitive Stamps
(p) Postal Stamps




Answer Given by Candidate : B

Sl. No.12
QBID:15549212

Identify the location of India's Astronomical Observatory.
(A) Itanagar

(8) Bangalore

(C) Sriharikota

(D) Ladakh

Answer Given by Candidate : C

SI. No.13
QBID:15549213

Given below are two statements: one 1s labeled as Assertion-A and the other 1s
labeled as Reason-R

Assertion A : It 1s reported in The Hindu recently that custodial death (both police
and judicial) amounted to more than 11 thousand in the last few years.

Reason R : Police brutality in Indian jails has increased many times.

In light of the above statements. choose the correct answer from the options given
below :

(A) Both A and R are true and R is the correct explanation of A
(8) Both A and R are but R 1s NOT the correct explanation of A

(€) A 1istrue but R 1s false

(D) A is false but R 1s true
Answer Given by Candidate : C

Sl. No.14
QBID:15549214

What ig the largest organ of human body ?
(A) Bramn

(B) Lung

(c) Skm

(D) Stomach
Answer Given by Candidate : C

Sl. No.15
QBID:15549215




Identify the correct combination of elements in Permatrost.
A. Soil

B. 01l

C. Gravel

D. Sand

B Iee

F. Snow

Choose the correct answer from the options given below :
(a) C.D.B.F
() A.B.D.E
c A.C.DE
(o) A.B.E.F

Answer Given by Candidate : C

Sl. No.16
QBID:15549216

A crossing had four paths leading to College, Hospital, School and Market. If Ram
has to reach Market from Hospital, he has to travel towards East and cross the
crossing. If College is in the North of the crossing. m which direction 1s School
from the crossing?

(A) North
(B) South
(c¢) East
(D) West

Answer Given by Candidate : D

Sl. No.17
QBID:15549217




A statement 15 followed by two courses of action. Assume everything i the
statement is true and on the basis of the information given m the statement
decide which of the course of action logically follows for pursuing

Statements :

The Helicopter service n U. S. is running into losses since its launch 20 years

back.

Course of Action

Statements : (I) The helicopter service should be given financial assistance of $
300 mullion dollars to sustain itself.

Statements : (IT) The helicopter services should hire a consultant who can advise
them measures which can be taken to reduce expenditure.

(A) Only (I) follows

(8) Only (II) follows

(¢) Both (I) and (II) follow

(p) Neither (I) nor (II) follows

Answer Given by Candidate : C

Sl. No.18
QBID:15549218

The following question has a statement & three conclusions. Check the
conclusion on the basis of the statement and choose the correct option :

Statement : A manager advised seven workers to resign due to low productivity
or they will be terminated tomorrow. Six workers resigned immediately.

Conclusion : (1) One worker will resign tomorrow.
(1) The manager will terminate him tomorrow.

(1) The workers may not resign and shall also not be terminated.
(A) Only (1) follows

(8) Only (u) follows

(c¢) Only (i) follows

(p) Either (1) or (1) follows

Answer Given by Candidate : D

Sl. No.19
QBID:15549219




There are three intersecting cireles I. S. P. Circle I stands for Class XII . S stands
for Students and P stands for Poor. Different regions are represented by letters
fromato g.

(X

P

Which region is represented by Class XII students who are not poor ?
(A) Only a

(8) Ondd

(¢) Bothaandd

(p) Onlyb

Answer Given by Candidate : B

Sl. No.20
QBID:15549220

A Statement 1s followed by two courses of action. Assume that the information
given in the statement is true. On the basis of the statement decide which course
action logically follows for perusing.

Statement :

The Chief Minister has received a complamt regarding demand of bribe by a
senior officer for favoring an mdustry.

Course of action :

(1) The nvestigating agency should catch the officer red handed and take legal
course of action.

(1) The Cluef Mister should wait for more complamnts about the officer as this
might be one odd case.

(A) Only (1) follows

(8) Only (1) follows

(c) Neither (1) nor (it) follows

(p) Both (1) and (u) follow

Answer Given by Candidate : A

Sl. No.21




QBID:15549221
One tap can fill an empty cistern in 2 hours and another tap can empty the same

filled cistern in 3 hours. The time taken to fill the cistern if both the taps are
opened, is :

(A) 6 hours

(B) 7 hours

(¢) 6.30 hours

(D) 8 hours

Answer Given by Candidate : A

Sl. No.22
QBID:15549222

In how many different ways can the letters of the word THERAPY be arranged
so that the vowels never come together ?

(A) 1440

(B) 5040

(©) 3600

(p) 4800

Answer Given by Candidate : A

Sl. No.23
QBID:15549223

In the four consecutive prime numbers that are m ascending order, the product
of first three 1s 385 and that of last three 1s 1001. The largest prime number is :

(A) 11
(B) 13
(c) 17
(p) 19

Answer Given by Candidate : A

Sl. No.24
QBID:15549224

If 1.5 = 0.04y. then the value of Y—X 1is:
y+x

(A) 730/77

(B) 73/77

(c) 7.3/77

(D) 0.73/77

Answer Given by Candidate : D

Sl. No.25
QBID:15549225

The sum of the present ages of father and son is 90 years. 10 years carlier. the
ratio of their ages was 5:2. The present age of the father is :

(A) 65 years




(B) 68 years
(c) 00 years
(p) 70 years

Answer Given by Candidate : D

Sl. No.26
QBID:1354681

As per the principle of . 10 one can make profit by insuring with
multiple insures.

(A) Co-insurance
(8) Indemmnity

(¢) Subrogation
(D) Contribution

foETd & J9R SgamIsale & 1Y S S Bl 1 W T

Wi 5l 51 9&dl|
(A) To-amHl
(B) &Il

(c) SHIRMEA

(D) HEEH
Answer Given by Candidate : B

Sl. No.27
QBID:1354682

Which prineiple of Insurance is not applicable to life Insurance ?
(A) Utmost Good faith

(8) Causa proxima

(c) Subrogation

(D) Insurable Interest

®H-a1 dm1 fga oies i & fog g 32 e

(A) 3HfeT e

(B) WUl HiEET

(c) SN

(p) 1A fea

Answer Given by Candidate : A

Sl. No.28
QBID:1354683




Match List - [ with List - IT

List-1I List-1II
(Specific Sector) {(Regulatory Body)
A [Capital Market I |TRAI
B [nsurance Sector II |RBI
C [Banking Sector IIT |SEBI
D |Telecom Sector IV [[RDA

Choose the correct answer from the options given below :
() A-III B-IV, C-I, D-II
(8) A-III, B-I, C-IV, D-II
(c) A-III, B-IV, C-II, D-I
(p) A-IL B-III, C-IV, D-II

Il 1S 1Y Gl 11 DT fHer Sifoy
Tl gdi i
(fafrw &nny frame e
A ol g6l 171 3R U TS
B. & &F 11 3R & 315
lc. <t am 111 Te1/TY 3 STy
D <oidId &F TV 353R a1 ¢
1 fdu ¢ fa el & 9 el IR &1 94 DifeT:

(A) A-IIL B-IV, C-I. D-II
(8) A-III B-I. C-IV, D-II
(c) A-IIIL B-IV, C-II. D-I
(p) A-IL B-III. C-IV, D-II

Answer Given by Candidate : C

SI. No.29
QBID:1354684

The share capital of a RRB 1s subscribed by Central Government the state
Government and sponsoring bank in the ratio of :

(A) 50:25:25

(B) 50:15:35

(c) 40:30:30

(D) 40:40:20

U T 84510 & 31 ol § $% WeR, 0 WeR ayl 99de §F &1 sme- Fud 4
fag argama & grar &2

(A) 50:25:25




(B) 50:15:35
() 40:30:30
(o) 40:40:20

Answer Given by Candidate : D

Sl. No.30
QBID:1354685

Which of the following banks is established to support Agricultural Finance ?
(A) SBI

(B8) EBI

(c) NABARD

(D) Bank of Baroda

Fefefaa 3 9 59 ¥ 21 v S fTaden 2 wwaa & e g &

(A) YRGg Ve §F
(B) yRdg fiod &
(C) Fm&ETe

(D) SF 3 Fglal

Answer Given by Candidate : C

Sl. No.31
QBID:1354686

Which of the following is not an asset of Commercial Banks ?
(A) Bills of Exchange

(8) Demand Deposit

(€¢) Cash Reserve with RBI

(p) Money lent to customers

faffad § 9 oF-91 aiftifca® s& &1 9EaR] ol 87

(A) fafHg o

(B) HIT 5HI

(€) "Rt e §& & U9 7@ Rk

(D) TEH! &I YR &1 T g&

Answer Given by Candidate : C

SI. No.32
QBID:1354687

Which of the following is the Asset function of money ?

(A) Unit of Account
(8) Medmum of Exchange

(c) Standard of deferred payment

(D) Store of value




9 ¥ SE-91 951 1 9kl S $1 &7

(A) TEIHI 5HTE

(B) fafmg &1 A1ew

(c) HFTE YiaH &1 3
(D) U B IR

Answer Given by Candidate : B

Sl. No.33
QBID:1354688

In order to mcrease money supply in the economy :

(A) Bank Rate and CRR should be increased

(B) Bank Rate should increase and CRR should decrease
(€¢) Bank rate should decrease and CRR. should merease
(D) Both Bank Rate and CRR should be decreased

snforaen # gor &t omgfd &1 9g % fo

(A) & ST U A6 HRIYT AU ST Sgal wHT At

(B) & oY &I SgMI AIeY Y1 AHG HRIET HIUT I HH Sl Alayl
(C) &% X T FH FA1 9IeT TYl TdHg ARIGT FUTd ST AT
(D) & X TYUT AFHg ARG I, ST &I B BH BT 918

Answer Given by Candidate : D

Sl. No.34
QBID:1354689

Which of the following functions are involved under marketing management's
functions ?

A. Collection of marketing
B. Marketing co-ordination
C. Marketing controlling
D. Marketing planning
E. Marketing Evaluation
Choose the correct answer from the options given below :
(A) A.BandC
(8) A.B and D
(c) A.B.C.andD

() A.B.C.Dand E




49 R 5 § § o9 W o1 {uvE wey= & 191 § mEm e g 2
A. Tauue &1 HoEm

B. fquuH wHag

C. fauuE =

D. fguur FHaeH

E. U qeaie=

A feu my fewedf # 9 w61 IR &1 999 S
(A) A.BandC

(8) A.Band D

(c) A.B.C.andD

() A.B.C.Dand E

Answer Given by Candidate : D

Sl. No.35
QBID:13546810

Rising promotion costs and shrinking profit margins are the results of which of
the followmg?

(A) Globalisation

(8) Deregultation

(c) Heightened competition
(p) Changing technology

aﬁgﬁ@ﬁmﬁqwaﬁ?ﬂaﬁwuaﬁgﬁwmﬂﬁmﬁmﬁﬁm
GiRUTH &7

(A) i

(B) e gHA

(c) vyt =1 51
(D) uftEdaeRl WEifE

Answer Given by Candidate : A

Sl. No.36
QBID:13546811

"Marketing is a human activity directed at satisfying needs and wants through
exchange processes.” Who said ?

(A) Philip Kotler
(B) Peter F. Drucker




(¢) Hansi L.V.
(p) D.S. Pauler

froy #u1 & - TauvH s gdiy fean © & fafaag ufeonelt & g enaegsarnedt gur g=sreit
=t I g e e 2

(A) TiRY SieeR
(B) UieX U, g&Y
(c) & ga. .

(D) SI. TH giTd

Answer Given by Candidate : A

Sl. No.37
QBID:13546812

Match List - [ with List - IT

List-1 List-1I
(P's of marketing) (Elements)
A |Product 1 |Warranty
B |Price II |Credit facility
C [Promotion IIT |Personal Selling
D [Place IV |Factory Location

Choose the correct answer from the options given below :
a) A-L B-II. C-III. D-IV

(8) A-IV, B-III, C-II, D-I

(c) A-IIL B-L, C-IL, D-IV

(o) A-II. B-I, C-III, D-IV

T 1% @ g R Ea T

T | Tl
(oo o )
A, IATG [ ARG
B. 4 I1. 501 gfger
lc_ dicae [11. G U ° DI 715 (9!
D. R V. ] dl I
i fGu e fas el § ¥ Ul 3R &1 99 Hifult:

(a) A-L B-II. C-III, D-IV
(8) A-IV, B-III. C-II. D-I
(c) A-II, B-1, C-II, D-IV
(p) A-IL. B-I, C-III, D-IV

Answer Given by Candidate : A




Sl. No.38
QBID:13546813

Advertising does not appear to be important in
(A) Brand Image
(8) Highlighting specific feature

(¢) Information

(p) All of these

Frafaied o 9 fead a9 Teaygul wdid 8l gidl -
(A) FisSid

(8) TA faRwars R §a &1

() I

(D) JURIeT FHI

Answer Given by Candidate : D

Sl. No.39
QBID:13546814

Customers buy from stores and firms that offer the highest

(A) Company Image

(8) Value for the money

(c¢) Customer perceived value

(D) Level of customer statisfaction

Ae® 94 WHT 3R BA 4 HEN #3d & o S=ad T F§ |
(A) HU 3T

(B) oF & I TR (G FR & T

(c) Hled GNT ATHd Hed

(D) FEF HGE FT TR

Answer Given by Candidate : D

Sl. No.40
QBID:13546815

Promotion Mix is the particular combination of promotional tools used by a
company to with its audiences.

(A) Help
(8) Communicate
(¢) Purchasing Decision

(D) Plan




Wad- Y, Yad-1g SURl S UE a8y Taha & Wl HuAl g 3ue darsierie! & wy
% forn Sude fasan o 2

(A) Hag
(B) HuHm
(c) wa g
(D) Al

Answer Given by Candidate : B

Sl. No.41
QBID:13546816

In a perfectly competitive market, a firm to be m equilibrium m the long run
achieves normal profit only when

(A) Average cost and average revenue will be equal

(8) Marginal cost and marginal revenue will be equal

(c) Average variable cost and marginal revenue will be equal
(p) AC=IL. MC=AR=MR are all equal

ol Wefos TR # didem & e B Fgo H 31d gu Sad GEg AT
W Bl © e

(A) 3T TG U9 H19d o 9HH BT

(B) HIHTd @FTd U8 HiATT e 9919 BT

(c) 3frad gfad=si arFTd ud A e FAE 5

(D) 3HT9d TG, §HEFG @1, 94 Uoed Uad S Teied 94 99 g

Answer Given by Candidate : D

Sl. No.42
QBID:13546817

Match List - [ and Last - II

List-1 List - IT
(Tool / Theory) (Application)
A Demand Analysis 1 Demand forecasting
B |Cost and Product Analysis II [Cost output relationship
C |Capital Management I Price estimates
D [Profit Management IV IPrDﬂt policies

Choose the correct answer from the options given below :
(A) A-L B-IV, C-III, D-II
(8) A-IIIL, B-I, C-IV, D-II
(c) A-I B-IL C-IIL, D-IV
(p) A-IL B-II, C-IV, D-III




T 13 |1 {1 I e e

T | Tl
(U Rigia (3T
A i faRewur 1. {7 gaigHE
B. TATd U4 3G [GEIe¥0l {11 @RI HATd 8y
. USh vae 111 Jed HFHHE
D. T HatH IV, Y ifedr

A fgu 91w fasedl # G HET 3T T Ide hiloT:
(a) A-L B-IV., C-III, D-II
(8) A-IIL B-I, C-IV, D-II
(c) A-L B-II, C-III, D-IV
(o) A-I B-II, C-IV, D-III

Answer Given by Candidate : C

Sl. No.43
QBID:13546818

Under price discrimination, price will be higher mn the market where demand 1s:
(a) Highly elastic

(8) Unitary elastic

(€) Less elastic

(D) None of these

e faidiewn & ofcfa, SR A g a9 s gFmwa ar____ gt &

(A) HTEF TEER

(B) Ud® T

(C) FH TEER

(D) 38 F B Tl

Answer Given by Candidate : A

Sl. No.44
QBID:13546819

Which of the following is the method of measuring clasticity of demand when
change i price of a commodity is substantial?

(A) Point method

(8) Percentage method
(€) Arc method

(D) None of these

Fr2 & g faftdt & At 1 9 F A 1 Fe 9 Y R o 9 o ¥ § oieds
i B




(a) fogfafy

(B) wia=r fafy
(c) =9 fafy

(D) THH A BIS A8

Answer Given by Candidate : B

Sl. No.45
QBID:13546820

If marginal cost is above average variable cost at a time when output is rising,
then

(A) Average variable cost is falling
(B) Average variable cost is rising
(c) Average total cost is falling
(D) None of these

ofe dimia ara e T8 990 W WE IdIeA 92 16 & SN Sigd giEa-nia ana | i
2 -

(A) 3HiHd gNEa-ES AN HH & w1 § |
(B) iad gitad-=ia ong 9 @l & |
(C) S¥d $ AT FHE W@ E |

(D) SR H | #I5 T8l |

Answer Given by Candidate : D

Sl. No.46
QBID:13546821

Match List - I with List - IT

List-1I List-1I
{(Methods of Quantitative Economics) {Tools / Techniques)
A [Inventorv Control [ |Simplex
E LPP IT |Saddle point
C |Game theory III [FIFO
D [nventory Valuation IV [VED

Choose the correct answer from the options given below :
(a) A-IV. B-1. C-III. D-II
(8) A-IV. B-I. C-II. D-III
() A-L B-IV. C-II. D-III
(p) A-IV. B-IL. C-I. D-III




HdT 1 & A1 {1 |l T A fiaT

T | Tl
(AETES U Bl & (SUBRUI | T D)
AT AT I FIYR
B. Ua Ui i 1. 95 faig
lc. a1 g [11. TH3RUH3
D. W& Jegidh IV. digel
e fSu U fad e § U Ual Itk &1 904 Bifois:

(A) A-IV. B-L. C-III. D-II
(8) A-IV. B-L. C-II, D-III
(c) A-IL B-IV, C-II, D-III
(0) A-IV, B-II, C-I, D-III

Answer Given by Candidate : C

Sl. No.47
QBID:13546822

The EOQ of an item is calcualted using the annual demand together with

and

(A) Indirect and Holding costs
(B) Direct and Variable costs
(¢) Ordering and Holding costs
(p) Direct and Ordering costs
aiffe A &1 a1

& 3, F1 T B ol |
(A) U TUT YT AT
(B) W& Tl giad! arTd
(C) STEENHES ST TUT HTiT rTet
(D) WY TYUT ACRTES IS T ArTd

Answer Given by Candidate : D

& 9Y TSy 3UGrT =i B9l Ag &

Sl. No.48
QBID:13546823




Which of the followmg are true in the context to company law ?

A. In case of transfer of shares. stamp duty 1s essential.

B. For transmission of shares no consideration is necessary.

C. A person cannot be director of more than 30 companies at the same time.
D. 'TPO' stands for Initial Public Obligation.

E. Departmental undertaking is a type of government undertaking.

Choose the correct answer from the options given below :
(a) A.B.C.D

(8) A.Band C

(c) A.Band E

(D) All of these

FH FA & g # FE H ¥ 3-8 96l

A. S & gEdioRn & ded § w9 Yo ofard 31

B. =i & 99w & R wiwa wed T80 8

C. U% %l fad, U &1 9HE TR 30 ¥ 3({4s Sl &1 FHeRe 6l 5 Sl
D. ‘31930 gHifmn ufsts sreiie & forg yged g 2

E. fovrfia Susd 16 7eR &1 TWaR! S0Hd &

A feu o fewedf # 9 61 IR &1 999 S
a) A.B.C.D
(8) A.Band C
(c) A.Band E
(D) All of these

Answer Given by Candidate : D

SI. No.49
QBID:13546824




Match List - [ with List - IT

List-1 List - II
(Serial Number of Clause) | (Title in Memorandum of Association)
Al I |Object clause
B 3 II [Liability clause
cC ¢ IIT |Association clause
D |6 [V [Name clause

Choose the correct answer from the options given below :
(a) A-L B-IV. C-II, D-III
(8) A-IV, B-I, C-II, D-III
(c) A-IV. B-1, C-III, D-II
(p) A-L B-IV. C-II, D-III

1 1S 1Y Yl 11 DT e eifs
il i1
(TS T &1 HH =) (Te4Y & [1u | i)
A1 1. 3530 Gs g
B.3 1. G e a1
lc. 4 111. 9599 T3 91y
D. 6 V. 91H ©3 didd
Aid feu U faded! § ¥ 9al IR &1 9a4 BHifois:

(A) A-L B-IV. C-II, D-III
(8) A-IV, B-1. C-II, D-ITI
(c) A-IV, B-1, C-III. D-II
(p) A-L B-IV. C-IIL. D-III

Answer Given by Candidate : B

Sl. No.50
QBID:13546825

Staffing includes .........

A. Training
B. Appraisal
C. Placement
D. Directing

Choose the correct answer from the following options given below :

(A) AandC
(B) BandC




(c) A.Band C
(p) A.B.CandD

weTfth & =nfaa &
A. Wi
B. &1 &1 geied
C. =
D. feEm

i feu U fasedf & | 95! IR &1 999 I
(A) AandC

(8) BandC

(c) A.Band C

() A.B,.Cand D

Answer Given by Candidate : B

Sl. No.51
QBID:13546826

An organisation structure 1s effective if it enables individuals to contribute to the
objectives of the enterprise. This is known as ...........

(A) Scalar principle

(8) Principle of functional definition
(c) Principle of unity of objectives
(D) Nomne of these

&l ST @1 §XEA1 a9 THIERIE Bl & dfG 9% odfedl &1 SeH & Sexdl @1 Ufd & fog
drerE & H 9aW A 21 59 FEd &

(A) =HfEmd g
(B) WEEIAS e &1 fbEia
(c) SEwdl &1 Umal &1 Rl
(D) H A Bg A8

Answer Given by Candidate : A

Sl. No.52
QBID:13546827




Given below are two statements : One 15 labelled as Assertion A and the other 15
labelled as Reason R.

Assertion A : According to Taylor, one best way of doing each task leads to
merease in productivity in organisation.

Reason R : It was the management responsibility alone to find out the one best
way.

In the light of the above statements, choose the correct answer from the options
given below:

(A) Both A and R are correct and R 1s the correct explanation of A.
(8) Both A and R are correct but R 18 NOT the correct explanation of A.

(€) A is correct but R 1s mcorrect.

(D) A is not correct but R 18 correct.

9 &1 FuF AU T & 0F SfHEU (Assertion A) ¥ w0 # fORET § O g0 39F SR
(Reason R) & 37 #:

HUFYF A : TR & HJER, TS FE &I Faiad &7 9 & el 1] §164 $1 Jagsdl
F T¢H B GUF HTT ST 7 |

®RU R : U GaioH a1 gel had Wesq $1 gidd & |

SUiad HYF & ATE |, A1d feu M0 [eedf § ¥ 95l 398 &1 999 i |

(A) A JRREH TG IR R, A FI 9t o &

(B) AIRRETI TG T SfFTR. A &1 98 oo T &

(C) ATdds ofFTR 3T ®

(D) AETe AT RTTE

Answer Given by Candidate : A

Sl. No.53
QBID:13546828

Match List - [ with List - IT

List-1 List - IT
(Theories of Leadership) (Example)
A |The follower theory 1 |Effzctive leader
B |The Behavioural theory | II [Character of leader theoryv
C |The great man theory III [Leader is a leader
D |The trial theorv IV |Perzonality

Choose the correct answer from the options given below :
(a) A-L B-II. C-III D-IV
(8) A-IV, B-III, C-II, D-I
(c) A-III B-IV, C-II. D-I




(p) A-IV, B-III, C-I, D-II

1 1 o 91U =t 11 & e Pifoie
i Odr-11
A SO e |1 aMraRiet Han
B TMGENG Mol |1 "dl Rigrd &f fozmar
lc. mergey e L AardaiAare
D. U&7 figr= IV oigded
i feu ¢ fadhedi d 9 91 IR D1 90 Difele:

(A) A-L B-II, C-III. D-IV
(8) A-IV, B-III, C-II., D-I
(c) A-III, B-1V, C-II, D-I
(p) A-IV, B-III, C-I. D-IT

Answer Given by Candidate : B

Sl. No.54
QBID:13546829

Match List - [ with List - IT

List-1

(Element of Broad Category)

List - II
(Broad Categorv)

|Grapevine

I Tools of control

Unitv of direction

II  |Scientific management

Time and Motion study

[II [Form of communication

ol o] fusl =g

Budget

v IManagemen‘r principle

Choose the correct answer from the options given below :

(A) A-L B-II, C-III. D-IV
(8) A-III, B-IV, C-II, D-I
(c) A-IIL B-IV, C-I. D-II
(p) A-IV, B-IIIL, C-I, D-II

I 1 914 =t 11 & e Pifie
I i I
w@ﬂﬁﬂa} (T &)
A 3P GHER 1. (A0 & JUd
B. FGTH &t tdhdr 11 391-® dae
lc. gmg 3R T1fa Hega 111 TUNU] ] &Y
D. §olc IV Ugd (g

e fEu U fodedl § ¥ 9al 3R &1 904 Bifoi:




(A) A-L B-II. C-III. D-IV
(8) A-III, B-IV, C-II, D-I
(c) A-II B-IV, C-I. D-II
(p) A-IV, B-III, C-I. D-IT

Answer Given by Candidate : B

Sl. No.55
QBID:13546830

Given below are two statements : One i labelled as Assertion A and the other is
labelled as Reason R.

Assertion A : The neglect of the human side of the organisation has been one of
the major criticisms of Taylorism.

Reason R : Taylor and his followers had viewed organisation mechanistically.
In the light of the above statements. choose the correct answer from the options
grven below:

(A) Both A and R are true and R is the correct explanation of A.
(8) Both A and R are true but R is NOT the correct explanation of A.

(€) A is true but R 15 false.
(D) A is false but R 15 true.

i 21 YA [T T B U SAHHYT (Assertion A) F FU H OG0 & ol g8 SHb BRU
(Reason R) & %9 #:

iy A faelt W16 § Adig gy 313U Safton &1 Us T A1 @ 3
HRO R : TR 3R 3G AT W16 &I dFaneal & Agig § ga|

SWRIEd FUA & AE 4, A4 8T T Jaed! § 9 999 Iuga S 1 994 S|
(A) A SRR W6 E AR R, A #1981 ArST §
(B) A IR R 981 & afF R, A 1 v o T 2

(C) AGSiedfs R udl T8l &
(D) ATH e AfFT R ST 2

Answer Given by Candidate : A

Sl. No.56
QBID:13546831

Sole proprietorship is most suitable for

(A) Small scale concern

(8) Large scale concern

(¢) Medmum scale concern

(p) Person who wants to share profits

TFT Wit ol Sugad el &
(A)




oY 99 BT 3R &
(B) T THE &1 39 F fom
(C) WO U &1 39T F fo
(D) dg oufdd ot TH &1 fes I 31 9iedl & 39 o

Answer Given by Candidate : C

Sl. No.57
QBID:13546832

Matrix organisation refers to a term of

(A) Organisation where authority and responsibility co exist.

(8) Organization in which two or more basic types of departmentation are combined.
(c¢) Organigation where events are mathematically arranged in columns and rows.
(D) None of these

STogg (Higaw) Wa U8 g =1 Hefila &a1 & -

(A) T3 Wal WiUsR Ul ifid T A 5 F |

(B) & Wal &l 91 31 ¥ Y Hu WK & [GHFT &1 JdieH 7 |

(C) WA Wel givagetsi Mfikig w9 | Wy au1 didaal § orafa e gt

(D) S I PRK T

Answer Given by Candidate : B

Sl. No.58
QBID:13546833

Organisation theory deals with ........

(A) Industrial Relations

(8) Incentives and wages policy
(c) Structure of an organisation

(p) Forms of business organisation

716 aid T HaeR Pl § |
(A) SRR ey

(8) UIcHIE aUl Hugxl &l Hifd

(c) fadl Tra &I W1

(D) IR 13- & W]

Answer Given by Candidate : C

Sl. No.59
QBID:13546834

The scale of Goods Act, was enacted on :

(A)




15T February. 1930
(8) 15® March, 1930
(c) 15% April. 1930
(0) 15T January, 1930
Ara fawa sifafan 9 ary fear mr ur
(A) 15 Hadl, 1930
(B) 154, 1930

(€) 15 3dd, 1930
(D) 15 wHad, 1930

Answer Given by Candidate : C

Sl. No.60
QBID:13546835

Section 28 to 44 D of the Income Tax Act, 1961 is related to
(A) Income from House Property

(8) Income from Salary

(c) Income from Capital Gamn

(D) Profits and Gains from Business or Profession

s e, 1961 1 R 28 § 44D e Wafa 2 2

(A) TG H9GT ERT 3T

(B) o GRI 3™

(c) Usi TY TR 3™

(D) TR T T GRI T1H ayT wiie

Answer Given by Candidate : A

Sl. No.61
QBID:13546836

If an asset is put to use for less than 180 days in the previous year. the
depreciation is charged at which rate of the following as per Income tax Act ?

(A) 30%

(B) 50%

(c) 25%

(D) Nil

gfg fadt ufvamaf &t 180 &7 @ & o@fy & fow 7 of & wgaa fem man 8 @t amaas
AFTH & AR eder &I fhd eX & fedrs 9 fomn e

(A) 30%

(8) 50%




(c) 25%
(p) =

Answer Given by Candidate : D

Sl. No.62
QBID:13546837

Calculate the Gross Annual Value from the following details :
Municipal value : Rs. 45,000

Fair Rental value : Rs. 50.000

Standard Rental value : Rs. 48,000

Actual Rental value : Rs. 42,000

(a) Es. 50.000

(8) Rs. 48.000

(c) Rs. 45,000

(o) Es. 42.000

I fau o famw § wea aiffe grg &t o 3¢

1. TgHETHUT 770« . 45,000
. SfEd & 999 : +. 50,000

I

3. A [T 120 : F. 48,000

4. OT&Kiige ol 72 : . 42,000
(A) ¥.50.000
(B) +.48.000
(c) ¥.45.000
(D) F.42.000

Answer Given by Candidate : B

Sl. No.63
QBID:13546838




Match List - [ with List - IT

List-1 List - II
(Head of Income) (Part of the Head)
A |House Property [ |Sale of Bond
B |Salary I |Car Facility
g [Prodits and Gais from T |l i
Business and Profession
D |Capital Gain IV |Income from Filing of Beturns

Choose the correct answer from the options given below :
(a) A-L B-II, C-III, D-IV
(8) A-III, B-IV., C-II, D-I
(c) A-III, B-II. C-IV, D-I
(p) A-IV, B-III, C-II, D-I

Tl - 1 91U i - 11 T fire Difore

i -1 -1

(3T BT Hid) (g1 & HI)
A [T Hual 1 [§fS &1 fdshd
B [dad 11 [PR B glaer

EIEEGREELIPER

o i e 11 [arfte qod
D [gsit &y IV [Red 1R & giH arell 3
Hid feu U fadmedl § U 9el IR &1 994 ifod:

(A) A-L B-II, C-III. D-IV
(8) A-IIIL B-IV, C-II. D-I
(c) A-III B-IL C-IV, D-I
(p) A-IV, B-IIIL, C-II., D-I

Answer Given by Candidate : A

Sl. No.64
QBID:13546839

Which of the following is not applicable to responsibiliity accounting ?
(A) Accountmg centre

(B) Cost centre
(¢) Investment centre

(D) Profit centre
g ® ¥ w4 eifta dui®s & fom arg 78 gan

(A) TEET &5




(B) T &5
(c) FEmEs
(D) TH Hg

Answer Given by Candidate : C

SI. No.65
QBID:13546840

The main difference between marginal costing and absorption costing lies in the
treatment of which of the following ?

(A) Direct cost

(B) Fixed overhead

(€) Varable overhead

(D) Semi-variable overhead

Hid T R qun gaEeE e FuiRo § ger o| e F e e 9 g e
(A) T@ T

(B) W@iY Iy

(€) el 3uiem

(D) 3f-afad Sufvam

Answer Given by Candidate : B

Sl. No.66
QBID:13546841

Match List - I with List - IT

List-1 List - II
{(Event) (Results)
A [Feducing capital 1 |Contribution
B |Sales = Variable cost II |Reorganisation
C |Sales = Break even sales I |Absorption
D |Take-over of firm IV [[RDA

Choose the correct answer from the options given below :
(a) A-L B-II. C-III D-IV
(8) A-IL. B-I. C-II D-IV
(c) A-IL B-I. C-IV. D-III
(p) A-IV, B-1., C-II, D-III




Il 1S 1Y Gl 11 DT fHer Sifoy

gl -1 gdl - 11
(e (TR
EEGIER ] I EEFE]

- Aeg-ay-yaHaen | 1 [EEEeEE

A
B [[&wd > uikadi arrd I [gET164
C
D

1 Bl AR IV [g&T &I 9T

=i feu e faeedl & 9 HEl IR &1 =g Sifoe:
(a) A-L B-II. C-III. D-IV
(8) A-II. B-I. C-III, D-IV
(c) A-IL B-I. C-IV, D-III
(o) A-IV, B-1. C-II, D-III

Answer Given by Candidate : C

Sl. No.67
QBID:13546842

Internal Auditor 1s appomted and removed by the
(A) Management
(B) Share holders

(¢) Government
(o) C.AG.

e TEmRieE i fGae gr1 Fgad f&a1 a1 gem o 9%l o
(A) HEYH

(B) TR YNE

(C) THK

(D) T

Answer Given by Candidate : B

Sl. No.68
QBID:13546843

Detection of errors and fraud in audit 1s :

(A) Primary objective

(B) Secondary objective

(c) Specific objective

(p) Non-relevant objective

e 3 08 9 1 Ua o A P A @ B9 SR &
(A) T I5H

(B)




T I
(c) famy Igwm
(D) WERTE It

Answer Given by Candidate : A

Sl. No.69
QBID:13546844

The objective of the transportation problem is to :

A. Maximise profit

B. Mmimise proift

C. Neither Maximise profit nor Minimise profit
D. Maximising loses

Choose the correct answer from the options given below :

(A) AandC
(8) BandD
(¢) Aand B
(p) A.B and D

UiNae 991 & S & ;

A, WY B AUHTH T

B. TRl &1 "B

C. 9 1 Y YHTH FA1, 7 Bl TIH 1 GHESI0 ST
D. &1 &1 Sifyean a1

e fou T fowwl H § 99 SUged SR &1 994 I

(A) AandC
(8) BandD
() Aand B
(p) A.Band D

Answer Given by Candidate : D

Sl. No.70
QBID:13546845

Under Annuity Due, payment is due at the ...............

(A) end of the tune

(B8) begmning of the time

(¢) muddle of the tume

(D) none of these

AIt®! 50 & ATd, YWIdH &1 AT &6 & Rl
(A) s@Efy & g d




(B) 3@y & ue o
(c) @I s Ao

(D) 579 ¥ &Ig 7ol

Answer Given by Candidate : A

Sl. No.71
QBID:13546846

The following is a short-run cost function
TC =200 + 5Q + 2Q?

Find out the optimum level of output when AC = MC
(A) 5

(B) 10

(c) 20

(D) 25

FafafEd seoem are e 8

TC =200 + 5Q + 2Q?

T8 AC = MC &l SHIeT & SPad @R &I J1d S|
(A) 5
(B) 10
(c) 20
(D) 25

Answer Given by Candidate : Not Answered

Sl. No.72
QBID:13546847

The mean monthly salary paid to 77 employees in a company was Rs. 78. The
mean salary of 32 of them was Rs. 45 and of the other 25 was Rs. 82. What
was the mean salary of the remaining ?

(A) Rs. 1248

(B) Rs. 125.8

() Rs. 126.8

(p) Rs. 127.8

UF SOt & 77 SHAE! & fEar T g GifE® 394 ¥ 78 U1 S9H § 32 wHaiil @
w19 904 . 45 U1 SR 3/ 25 SHAE! 1 &, §2 U1 | 99 &9 gU HHAIE! B 71 dad
faan ur 2

(A) Rs. 1248

(B) Rs. 125.8

(c) Rs. 126.8




(p) Rs. 127.8

Answer Given by Candidate : C

Sl. No.73
QBID:13546848

The rank correlation coefficient between marks obtamned by 10 students in
English and Mathematics was found to be 0.5. Find the sum of squares of
difference of ranks.

(A) B1.5
(B) 82.5
(c) 83.5
(p) 84.5

10 fenfifal & il ik it & waie! & &9 $9 95 WX 0% 0.5 991 T 39S
B! & &g & 3 B a1 BI g J0d Sl |

(A) 1.5
(B) 82.5
(c) B83.5
(D) 84.5

Answer Given by Candidate : B

Sl. No.74
QBID:13546849

Which of the following persons are not competent to contact ?
(A) Persons of unsound mind

(B) Person disqualified by law

() Minors

(D) All of these

T A s o ST s eg 9@ Tl & 7

(A) 3T AH a1 A

(B) @A §RI 2@y gifgd by g ar

(C) FTaTierT

(D) TR THI

Answer Given by Candidate : D

Sl. No.75
QBID:13546850

When the consent of a party i1s obtamned by coercion, undue influence. fraud or
misrepresentation, the contract is :

(A) Vald
(B) Voidable
(c) Voud
(D) Illegal




od fdt U g i geHld IaddtsH. sfed wHTd. yiRargs! ar fear o d
T 1 STl ©. 1 98 Sfdal ............ &

(A) T
(B) HHMIHIUNG
© LH

(0) TRSTEA!

Answer Given by Candidate : C

Sl. No.76
QBID:13546851

Given below are two statements :

Statement - I : Convenience sampling is a type of non-random sampling
methods

Statements - IT : Quota sampling is probabilistic sampling technique

In the light of the above statements. choose the correct answer from the options
given below :

(A) Both Statement - I and Statement - II are correct.

(8) Both Statement - I and Statement - II are incorrect.

(C) Statement - I is correct but Statement - II is incorrect.

(D) Statement - I i1s incorrect but Statement - II 1s correct.

3 & By feu &
®U | - GfaueHes dfaes saetse wiaer it &1 16 TeR § |
&Y 11 : Taa aEmes vioesf ve miesares afdest &fd g |

SR HUF & S 4, A9 [GU U fGwed! # 9 981 I &1 909 Sifad |
(A) T AR S T T

(B) HuA [ IR II <Hf 3w &

(C) &Y 1T & dfted Su= 11 39 &

(D) FYF ] AT T AT su [ 90 &

Answer Given by Candidate : C

Sl. No.77
QBID:13546852




Match List - [ with List - IT

List-1 List- 11
{Statistical topic) (Method)
A |Interpolation I [|Probabilistic
B |[Regression coefficients | II [Newton
C |Sampling IIT |Scatter Diagram
D |Correlation Analysis IV [Deviations

Choose the correct answer from the options given below :
(a) A-L B-II, C-III, D-IV

(8) A-II. B-IV, C-I, D-III

(c) A-IL B-I. C-IV, D-III

(p) A-IV, B-III-, C-II, D-I

T 1% T T I EA e

Tl -1 ol - 11
A |3 I W& diE®
B [OfdiHA Ui I [ged
C [ufd=aga 1 [&heX SaE
D [ggday famremo W CERG

A few 917 fahedl & T HAL ST T 997 HITSAT:
(a) A-L B-II, C-III. D-IV
(8) A-II. B-IV, C-I, D-III
(c) A-IL B-I, C-IV, D-III
(p) A-IV. B-III-, C-II, D-I

Answer Given by Candidate : B

Sl. No.78
QBID:13546853

The total areca of a normal distribution between average value = 1.96 of standard
deviation is :

(A) 95.45%

(B) 95%

(c) 99%

(p) 68.34%

Oe e & Siad ge £ 1.96 % T W deA @1 SR A% §

(A) 95.45%
(B) 95%
(c) 99%




(D) 68.34%

Answer Given by Candidate : D

Sl. No.79
QBID:13546854

Which formula may be used for calculation of coefficient of correlation ?

(a) x = byx x bxy

8) 1 = Jbyx x bxy

1

(©) 1 =.fbyx+ bxy
(p) X = byx + bxy
TEHEY 0TS B A B & O 5T TF BT WG fmar o Sear & 2
(a) x = byx x bxy

8) 1 = Jbyx x bxy

(©) ¥ = fbyx+ bxy

1

(0) X = byx + bxy

Answer Given by Candidate : B

Sl. No.80

QBID:13546855

Which of the following is not a property of standard dewiation?
(a) O, +k=0_+k

) O, +k=0_

() O, xXk=kxao_

GT
(D) GIT;{:T

frofafaa 8 ¥ 190 s 79 fGeas 31 flva i & 92
(a) O, +k=0_+k
m)ﬁr+k=ﬁx

(C) G_TXI(Z;(XG_T

GT
(D) G__{_f.fi'ZT

Answer Given by Candidate : B

Sl. No.81
QBID:13546856




In Indian context. the emphasis on Import Substitution often run counter to

(A) the objective of managerial development
(B) the objective of sports development

(c) the objective of skill development

(D) the objective of technology development

YRd & ey H mra wHEE W g9, ue: e F 9 59 Iem @1 9 S 5 daifaa
gaE?

(A) VEHH & @@ &1 3590

(B) TUFE & faTE &1 35w

(c) ®iTM GemE 135

(D) TEAI®! [AHTH 1 I5%0

Answer Given by Candidate : D

Sl. No.82
QBID:13546857

Reasons for Adopting Globalization.

A. Profit advantage

B. Growth Opportunity

C. Domestic Market Constraints
D. Spin off benefits

Choose the correct answer from the options given below :

(A) Aand B
(8) Cand D
(c) A, BanD
(D) All of these

A, YT

B. gig F @®

C. 9 SR & &alg
D. &% gfvong § @y

4 ey U ool § § 9o9 Sugad 9T &1 994 S

(A) ATUB
(B) CaulD
(c) A.B.TuD

(D) Ty




Answer Given by Candidate : D

Sl. No.83
QBID:13546858

Arrange the followmg acts m the order n which they came mto force.

A. The Monopolies Restrictive Trade Practice Act
B. Indian Contract Act

C. The Sale of Goods Act

D. The Foreign Exchange Management Act

Choose the correct answer from the options given below:
(a) B.C.A.D

) C.A.D.B

c A.B.C.D

() D.C.B. A

FofetET S &1 39¢ aF B & ®H H ougRyd i |

A. TFIYSR gyl Eiids Uiie Hae HSHaq
B. UGG Sigar Hfaag

C. A fowa sfafaoH

D. fae=i qa1 udy siigmy

AT few o faeheul & T8 30t 30X ol T HIfIT:
(a) B.C.A. D
) C.A.D.B
© A.B.C.D
() D.C.B. A

Answer Given by Candidate : A

Sl. No.84
QBID:13546859

Given below are two statements : One i labelled as Assertion A and the other is
labelled as Reason R.

Asgertion A : Industrial policy 1991 initiated liberalisation of Indian economy.
Reason R : Industrial growth was very slow before 1991.

In the light of the above statements. choose the correct answer from the options
given below:

(A) Both A and R are true and R is the correct explanation of A.
(8) Both A and R are true but R 1s NOT the correct explanation of A.

(€) A is true but R 15 false.
(D) A is false but R is true.




A & e fag T B

YU - NS 1T 1991 ( Assertion A ) H HRAT sfcoawy] § SERIGUI
@1 Ugd Bl GIRI YT ( Reason R) H &I H B

BYTII : 1991 T UG SIS i agd eiiell i |

JIRIF HUA & 3TdlD |, Aid fSu e faswedi § T Ul 3ok &1 994 Dol |
(A) PYFI AR I GH T & Al R, A B Jol AT 8

(8) PUFI R II &HI T § qich- R, A B Jg| oAl Tol &

(©) YT I 5. dlbd DU II A &

(D) TYI AT, AT FUT I TA ©

Answer Given by Candidate : A

Sl. No.85
QBID:13546860

Which of the following is not an objective of planning ?
(A) Economic growth
(B) Setting of Heavy Industry

(¢) Modernisation
(D) None of these

BRI R RS A s R B e 2 Rt i 1 -
() e g

(B) HHI I F ®ITAT

(C) SMYFPIHE

(D) TH A H1S T8I

Answer Given by Candidate : D

Sl. No.86
QBID:13546861

Given below are two statements : One is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A : Ratio analysis is one of the tools employed to know the financial
health of a concern.

Reason R : Ratio analysis is not the only technique available to take investment
decision.

In the light of the above statements. choose the correct answer from the options
given below:

(A) Both A and R are true and R is the correct explanation of A.
(8) Both A and R are true but R 1s NOT the correct explanation of A.




(C) A is true but R 15 false.
(D) A is false but R 15 true.

S g1 FyA 20 U & uF fiiFuT Assertion A TYT GERT BT BRU Reason R & ®9 & fafaq
%

THYA A ;- Tedl ¥l 921 & [ &1 Rl W= & g 3ugm &1 o gl i § 9
aTa faweion ue &g 2 |

HRUI R ; Fawrma ol o9 & R Saa s ey 8§ e Suasy &y a8 2

SR $UF & AWE 4, I 8¢ T Jeed! # 9 951 I &1 907 Fif |
(A) A RR IH T8 & a1 R, A &1 981 oI @

(8) A SRR aHl 98l & W R, A &1 98l &01& 75l &

(C) AWIEWRgR AR

(D) AT RIR T &

Answer Given by Candidate : D

Sl. No.87
QBID:13546862

Working Capital = 60.000
Current Ratio=2.5:1
Liqud Ratio=1.5:1

What 15 the value of stock ?
(a) 60.000

(8) 1.00.000
(c) 20.000
(o) 40.000

HIIETE ot = 60,000
g AU =2.5:1
O AgIa =1.5:1

S B g &1 5T 7
a) 60,000

(8) 1.00.000

(c) 20.000

(D) 40.000




Answer Given by Candidate : D

Sl. No.88
QBID:13546863

Which of the following are the qualitative characteristics of financial statement ?

A. Relevance

B. Reliability

C. Comparability

D. Understandability

Choose the correct answer from the options given below :
(A) A.Cand D

(8) B.Cand D

(¢) BandC

(p) A.B.CandD

faia faaeo 21 o G Fafafes d 9= d e 2

A. UTERTEAT
B. s

C. TSl
D. ST

i feu U el | 9 999 Iugad 3Tk &1 909 B |
(A) A,.CTuD
() B.CTuD

(c) BT C
(p) A.B.CTuD

Answer Given by Candidate : D

Sl. No.89
QBID:13546864

Given below are two statements : One is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A : Under dimmishing balance method of depreciation, the charge for
depreciation keeps on diminishing year after year in all subsequent years.
Reason R : Under diminishing balance method, the rate per cent at which
depreciation 1s written off goes on diminishing from year to year.

In the light of the above statements. choose the correct answer from the options
erven below:

(A) Both A and R are correct and R is the correct explanation of A.
(8) Both A and R are correct but R 1s NOT the correct explanation of A.

(C) A is correct but R 1s incorrect.




(D) A is mcorrect but R 1s correct.

i € By 2y 70 8 Us SfieuT (Assertion A) & w0 H faféd & & gaw Sus sRu
(Reason R) & 37 &

HHFYT A : 519 $I 1AM Iga- A1 F 3F1d, g1 & (oY WHIT 919 &< 919 34 a5
ufacdf ast & gedht ot 2 |

HRU R : 519 &1 gI9AH Sgod [Gfd & ia, o ox 9fama W g/ &1 saee e
Wl &, a4 g a¥ 9 i ot & |

IWRlE FYF & e H, " fou U fasedi # 4 98l I &1 999 S |

(A) ARRIE T@E MR, A S 98 T

(B) A R R g 9w & @ R, A &1 wdt oarem =g &

(C) ATTE AP R 3@

(D) ANIE AR IIE

Answer Given by Candidate : C

Sl. No.90
QBID:13546865

In case of Installment payment system the ownership is transferred from the
vendor to the purchasee:

(A) Immediately

(8) On the payment of last instalment

(c) On the Recovery of goods

(p) On the payment of Insurance premium

fopeit fopea e womRdt & ftee o1 TieR #Y Wi B g L EECIES
(A) deplT

(B) &iaH feed & Yo W

(C) HIT &1 Uiy TX

(D) A UifEmH & YT )

Answer Given by Candidate : B

Sl. No.91
QBID:13546866

On the admission of a new partner. the balance of the profit and loss adjustment
account should be transferred to the capital account of

(A) All partners in their new profit-sharmg ratio
(8) Old partners in their old profit-sharing ratio
(c) Old partners in their new profit sharing ratio
(D) Old partners in their sacrificing ratio




UF 99 GeHFET @ 9faf 89w Wy awr g1 gadeE oF o feue 0o oF o geaaia
faan @ =fag 2

(A) THI FEHIRE! &1 39 78 WH-GgHEA & 3J497d o |
(B) TNIH WEHIRE! &1 3¢ QU TWH-TgHEH & 4 ¥ |
(C) U FEHINE! @1 3¢ 90 TIH-FgHIA & U H |
(D) T FEMIRTEf #1376 oSN F ua ¥ |

Answer Given by Candidate : D

Sl. No.92
QBID:13546867

Which one ig not the main objective of fiscal policy out of the following ?
(A) To promote price stability

(8) To mininuze the mequalities of Income and Wealth

(c¢) To promote employment opportunities

(p) To merease liquidity in the economy

i 3 9 219 9 e Ao St S o Sew T8 § 7

(A) T FRERar =1 Ao s |

(B) 3G T o= @I [quAd &1 &7 S |

(C) TR F 3T HI UeHTBd B |

(D) erfemg= # aeaar § afE @

Answer Given by Candidate : B

Sl. No.93
QBID:13546868

Match List - I with List - IT

List-1 List-1I
(Aggregate) (Formula)

Private Income - Undistnibuted Corporate
Profit - Profit taxes

B IDisp{:sable Income | II [Personal Income - Direct Taxes

C INNPat Bictos cost: | T N_\P_a'E market price - Indirect taxes +
Subsidies

D [NNP IV |GNP - Depreciation

A |Persc+nal Income I

Choose the correct answer from the options given below :
(A) A-IV, B-1, C-III., D-II
(8) A-III, B-IV. C-II, D-I
(c) A-IL, B-II, C-III, D-IV
(p) A-I, B-III, C-II, D-IV




Il 1S 1Y Gl 11 DT 7 eifsy

ol -1 ol -1
(GIEE)! GE
i faii om ; ﬁﬁﬁﬁ&nﬁ-&rﬁaﬁﬂmw-ww
B |[Idig H™ I [oHidd7Td 3110 - T4 &Y
o [EFTTE WA | [§R 7 W Haw Ui SdTe
RI¥1g 3G SUE TR gaigal
D |F9d TPy Id@Ig IV [l -39

- feu e faeedl & 9§ HEl IR &1 =g S
(A) A-IV. B-I. C-III. D-II
(8) A-IIIL. B-IV. C-II. D-I
(c) A-L B-II. C-III. D-IV
(o) A-IL B-III. C-II. D-IV

Answer Given by Candidate : D

Sl. No.94
QBID:13546869

Given below are two statements : One 15 labelled as Assertion A and the other 15
labelled as Reason R.

Assertion A : Industrialisation of an economy is considered synonymous with
erowth.

Reason R : The transfer of resources from agriculture to industry may be capital
or labour or both.

In the light of the above statements. choose the correct answer from the options
given below:

(A) Both A and R are true and R 1s the correct explanation of A.
(8) Both A and R are true but R is NOT the correct explanation of A.

(€) A is true but R 15 false.
(D) A is false but R is true.

1 &1 FuA AU T & 0 SfHEuT (Assertion A) % w0 # fORET § O g0 39F SR
(Reason R) & 37 &:

ey A - fedl srforaen & iy &1 sas! 9is &1 9o 7 o1d1 © |

HRUR : Y F I F GF ST BT G0 YSATd $FFTd I1 {5 &H1 8l ©f 9%l &
|

TUed ®YA F oA °, A9 T e ieat H# ¥ 98 3 w1 9ua wifom |
(A) ARREHI TG E AR R, A &1 9l A &




(B) A SRREF 9@ T A R, A 1 98 oo 8 &
(C) ATUR IR o &
(D) AU EaFTRTEE

Answer Given by Candidate : B

Sl. No.95
QBID:13546870

Match List - I with List - IT

List-1 List - II
(Institution / Act) (Year of Establishment)

A Unit Trust of India I 1921
5 Iml?erlal Bank of I 1056

India
C Banking Regulation I 1064

Act

LIC IV 1949

Choose the correct answer from the options given below :
(A) A-III, B-IV, C-I, D-II

(8) A-IV, B-III, C-II, D-I

(c) A-III B-I., C-IV, D-II

(p) A-IL B-II, C-III D-IV

gt 1o mr g o mena aitse

Tl - 1 a1 - 11
e/ it (RUTT1 T )
A gie g Al sfea I 1921
B safifaa d& 3% Sfem I 1956
C S o sfafaas 111 1964
D Wi o | v 1049

A BT v [Oohed] A A Hel Sadal 9d- hifaig:
(a) A-IIL B-IV., C-I, D-II
(8) A-IV. B-III, C-II, D-I
() A-III, B-1, C-1V, D-II
(o) A-L B-II, C-III, D-IV

Answer Given by Candidate : D

Sl. No.96
QBID:13546871




Match List - [ with List - IT

List -1 List-11
(Financial Institutions / {(Year of Establishment /
Events) Occurance)
A [Reserve Bank of India | T |1948
[Mationalization of 14
B lmajor Commercial II 1935
Banks
Nationalisation of 6
2 |Commercial Banks i
D [[ECI IV 11980

Choose the correct answer from the options given below :

(A) A-IL B-IV. C-III. D-I
(8) A-L B-II. C-III. D-IV
(c) A-IIL. B-I. C-IIL. D-IV
(p) A-IIL B-III. C-IV. D-I

Il 1S 1Y Gl 11 DT 7 eifog
-1 gdi-1n
(fadtg Tl / gfvereny) (RITAT Y / gfed g
A |[YRdEg Red d@ I |i948
B 145@; oo ST I |1935
ﬁl’ =
C %@Waiﬁiiaaiéﬁaﬂ m 1969
D (315 U Tf 315, v 1980
=i feu U fas el § ¥ Tel IR &1 99 Pifeid:
(a) A-II, B-IV. C-III. D-I

(8) A-L B-II C-IIL. D-IV
(¢) A-IL B-I, C-IIL D-IV
(0) A-II. B-IIL C-IV. D-I

Answer Given by Candidate : D

Sl. No.97
QBID:13546872

REBI Notifies CRR under section
(A) 24
(B) 36
(c) 40

of Banking Regulation Act, 1949.




(D) 42

YR vod da, §fd Fame sifafam, 1040 1 amT & 3T
T 3R.HR. BT G TR |

(A) 24
(B) 36
(c) 40
(D) 42

Answer Given by Candidate : A

SI. No.98
QBID:13546873

Which of the following is not a negotiable Instrument ?
(A) Pay order

(8) Cheque

(c) Bill of Exchange

(D) Bank draft

T dde T e TgE T8 & 7

(A) YT SHC=

(B) =%

(c) faFmaw=

(D) & & gIoE

Answer Given by Candidate : D

Sl. No.99
QBID:13546874

In context to Information Technology and Communication. ISDN stands for

(A) Integrated Security Digital Network

(B) Integrated Services Digital Network

(c) Integral Services Digital Number

(p) Integral Security Digital Number

I NIt ok $aR & ded H e el 1 erf g .,
(A) = Ry fefiea Jeas

(B) =fedes ey fefoea Jeas

(€) sheRa widaw fEfeed FmR

(D) et Ry fefoea 4a

Answer Given by Candidate : B

Sl. No.100




QBID:13546875
Paperless office for modern business units focuses on :

(A) No use of buildings and equipments

(B) No use of human resources
(€) Use of electronic mode for communication

(p) More and more use of physical files

gﬂgﬁﬁﬁamwgaﬂaﬂ“f%ﬁﬂummm Med P o
|

(A) YT TUT SYDRUI B Dlg WO g1 P |

(8) T T BT Py TN 7 BT |

(©) T9R & AU gaiae i T1ens &1 g |

(o) Hifde( fefoma ) wrsal &1 ofde I Sifs wan |

Answer Given by Candidate : D




